goobooggooobod gooo

000000000 00000000000
00 3)00000 20060 70 290
ooooon

e 00O

goboboboobobobuoooo rFrbobobobobFroobobOobooog
gboog FoOoobooobooog

gbobobobobobuooobobuobo FObDO0OO0ODObDOOObOOn
gobogoboboodgbbuogobbuooobbuooobbuooobbuooon
gobboogobbgbuooobbobboooobobbooooooobobooo
goddggooobbbbbbiboooooooooooooboouuoogo
gbooobgobooboobgoong

o0 rFO0b0O00O00DO0ODOODODLOODOObOOOODOobLOOODODbOD
ggbobobouogobbobooooobo
ggbobbooogoobobuoooobobobooad

000000000000000000000 a4, ..., @, 000 by, ...,b0 O
00000000 @7 <hy,..., arex <b,00000000000000O
eJ000DDOO

e JUODOOUOOODLDLDOOOOO
gogbobobbooogobobogobobooouoboobooood

gbobmoooogobboboobbbobooobobobbooboon
gbooobon

e OO OOO
gboogbuoobooboobooboobo
O00OO0O.», 00000000000 fOO00Ov—e+f=2

e UUDOUOODOODO
gobobuoooobbboooobobobogd
gboobgooboobon
ggbboboogobbobooooobobooogoboboboooon
ggbbobooooobboboooobobo

O00o0oooboooooobobbooo0oooooboobooooU00v—e+f=1
ggbobobboooooboobodooood

gboobuooboobgobgbooboobooboobooboobo
goooobooobo



gbobogbboggbobboogobbbuoououbobooooboboobooo
gobooo

gboboobobobobooooooooboboobv—e+ fO00O0ODODOD
gboobgobgoobgooboboobooboobooboobooboo

gogbbobuodogdgobooooobbbuooouoboboooon

gobbuogbboogbbboobobobooobbuooobboobbboon
gogoboooodgn

gbobooooooooogbobogbobobboooobooooooooon
v—e+ f=1000000

gogbobooogn

o000 KOoooooooooob A0 ROOOO0OOOOOOODLDOOOO
oooo CcoO A0 RPO0ODOOOOODOODOOO

goon

KOOOooOoO pO0O0O00O0DD ROOODOOOO cOOOO
KOOOooOooO pO000D00OD0O0OD RODOODODOOODCUODOOO
KOooobo pO0DO0ODOO0 RUOUDOODOO

v(K) —e(K) + f(K) =v(P1) + v(P2) — v(C)
—(e(P1) +e(P2) —e(C))
+f(P1)+f§ P)

=1+1+4eC)—v(C)=14+1=2

0000000
000000000000000000000000000000000000
000 kDD0D000002 =kf (k= 3)

0000 mO0000000000000000um =2e (m = 3)

OoobDoobobobOv—e+f=20000
2 2

o0 (——1+-)e=2
(- —147)e
DDDDDE—1+2>O DDDDL%—1>1
m k m k 2
000000 (k,m) (k,m =3) 00(3,3), (3,4), (3,5), (4,3), (5,3) 0000

6,12,8), (12,30, 20), (8,12,6), (20, 30, 12)

3,
00000(ve, f)0000000(4,6,4), (
00000000000000000000

gbogoobgoooobobobobo
gooood



